20175 E MPEH1EERE HEFPER

HEeEB8| &85 (9917 R EH—K HEeEB| =15 ¥t *EH—K
6/10(%) k] 16:00 |fF8ARE| 17| —| O ## 1520 &F [4|—| 0| EHE
6/4(8) | JLZBEE
RE B | KE | BH - PSR 16:40 | JLZHEE | 0 |—| 2 |WFHWE
7/29(%) b3 13oo/1330| R B — EEIT# 15:00 | JLZBEE - 27
6/25(8)| JtLZEEE
15:00 | F)IA - p:i3 16:20 | 2845 — 5
7/27(K) #
16:15 | f8 7 BhRE - HERES 9:30 | dLZEEE — R
7/8(x) | JLIEEE
A 7/21(K)| EBH 14.00 | FXBH - EET¥ 1050 | H{FF — 55
\ B
28 | #FRAME | 1500 |#FRARE| |—| |EEIZ =1 I 9:30 | dLZEEE - 2HE
A - JAEE
v 1400 | MEEES| | — # ,; 10:50 | #AH | |[— -3
p |1722(1) # — @y =
15:15 | F%BR - IS _ 1400 | 255 - HWERWE
7/16(R)| #EHEE
7/9B) | #F8hKE | 12:30 |#HF5ARE - AN 1520 | &{F - o0 K Bf
12:30 | REXBH — b2 7/17(8)| dtZBEE | 14:30 | JLZEEE — =35
6/25(H)| XBH
1345 | ERET % - HEEER _ 1400 | HF — mESEA
7/22(1)| P A
_ 13:00 | #8F 5AME - 5357 15:20 | e Kt - EHE
I 5hRE — — —
7/15(1) 14:15 | FIB — HEREA 7/23(B) | M SHHE| 1400 |#HFEHEE — E=35y
pd 1500 | EET % - 23 7/29(1)| EHEA| 16:40 | #FEHME - R
HEeEB8| &5 ($99147 *EH—F HEB| =5 [$9917 *EEHh—K
1500 | ##FdL | 0 |—| 2 | #HER FNERERRE | 13:30 | REPERE| 1| —| 1 | #HERKH
6/3(1) | Rt 5/28(H) —
16:20 |BERAE| 2 | —| O |#HFEAGE (ANIZ)| 1445 | MFEW|13|—| 0 |#HFEIR
/1) | A4 | 900 |MEE— - FIad . 9:00 | =1F - 2%
6/11(B)| #F =1F —
1000 | #FdE | 1 |—| 2 |[BRIIBI 10:15 | ## B ARt — HEER
6/11(8)| #FJt —
11:20 |#MFEEE O | —| 1 | B 6/25(E) ANEZEE| 930 | ARHER — HEER
c 6/18(8) | BERAE| 15:00 | BBERIE - WEE— b (AIZ)| 1045 | 2% — il N
7 13:00 | #FL - |@mFEE— 7 1330 | AEgR| || |[#FSEF
B fe/17(1)| #F4L B |7/16(8)| HEEF —
Y 14:20 | AERAE - HiBE Y 14:45 | F Ei5 — 2
7 7/260K) | RIIAAE| 9:30 [FIIAHA - A 7 L 9:00 |fHFEIF - e lE KBt
7/23(8)| #F SR
15:00 | BEBRHE — #mEd 1015 | 2 — Gk
7/15(%) | BERMNE
16:20 | FERfE - HPEE—
7/16(8) | FI11A4E | 10:00 | F)I1&TE - 1R
121 | FIIAAL| 9:30 [FIIAd — BEERNE
7/23(B)| #FEdL | 13:00 | #FEdL - PG
7/260K) | {1 AL | 10:40 | B E— - HiBE
HEe8| =85 ($99147 *TEEH—F HEeEB| =15 |F9917 *EH—F
5/20(x)| fF [ 1500 | #MF | 2|—| 0 |#HFEE 1400 | BER |0 |—| 4| EE
6/11(B)| 7AFEEH o~
5/28(R)| ZAEEHIE | 930 |ZAEME| 0 |—| 4 |[#FEE 1515 | % |3 |—| 2| BE
6/3(1) | R | 1330 |#FRI) 1 |—| 0| FH# ) 13:00 | ZHEER | 0 |—| 3| %
6/18(R)| fHIE
5 6/10(+)| EH |1330| m# (0|—| 2| mF ; 1415 | RE74| 2 |—| 2| BE
Oe/11(B) | MEEE| 930 |(#FEE| 0 |—| 2 |[#FHI A 1400 | HZE — BER
v w [6/25(8)| BEE®R
pl6/1UL)| #HFE | 15:00 | #F —| |EEHR 5 1515 | &E —| | REB7A
7/15(1) | #F B4t | 13:30 | F it - #wE 13:30 | 152 — RET7A
7/8(2) | RBT7A
7/16(8)| HE | 13:30 | FH# - AR 1445 | BHX — RE
72200 | HEEE| 930 [HFEE - ¥ 13.00 | EE — il
1716(8)| EE
7/29(x) | #F BRAL | 13:30 |#HF B E — AR 14:15 | RE7A — EER
* 1RY—FE7APICETL, &I OvH LE2F—LHNR2RY—F ~HEH




20174 & WFFI'ﬁfIEEjS 152')— T 2k

[>T &) BN N S I

—y

oS a A~ WwN

p—ry

oo G hAhAwWwN

a AW N

a AW N

a A~ W N

i BhRE FlE | EEIE|#FH s B | | B |88 sa|EK|IE

T BhRE - - - - 17O o0|3|1|ofo|17]0[17] 1
EH - - - - - ojlofofofo|0O]|]O]2
IS - - - - - ojlofofofo|0O]|]O]2
EEIF - - - - - ojlofofofo|O]|]O]2
HERED - - - - - ofo|lofo|lo|o|[0O] 2
# 0 @ 17 - - - - ofo|of|1]|]o]|17|-17] 6

B EE | BF |eXHtE| ZHE [4Fsws| BE |Ba| B 9| 8 |8a|xs|Ex|Ek
LR - - - 0 @ 2 - ofojlof1]|]o|2|-2]|5
e - - 4 00 - - 3|1|oflo|4|0f4]H1
PNk - - - - - ofo|lofo|lo|o|0O]3
2HE - 0 @ 4 - - - olo|o|1]|0]|4]|-4|6
HMEHEE|2 O 0 - - - - 3l1]oflo|2|0]| 2|2
=35 - - - - - ojlofofofo|O0O]|]O]|3
C AERASE| RIS | MFFEE| MFdt |MFE—| BEE 8| | 2| 8 |85 8% 6
BERMNE - 2 00 - - - 3|1]0|lo0|2|0]2]2
EALESS]d - - 2 O 1 - - 3f{1|loflo|2|1]1]3
HEEE |0 @ 2 - - - o @ 1|Joflo|of2|0|3|-3]|6
AL - 1 @ 2 - - 0 @ 2|loflo0|O0f2]|1|4|-3]|5
HFEE— - - - - - ofojo|o|o|Oo|oO] 4
RS - - 1 O0|l200 - 6l[2|0f[0]|3|0]|3] 1
D EfE |BFER|MREAW| #FEH| KH BR| | 5| B |88 Ra8x| B
& - - - - olofofofo|O0| O] 4
AR EIR - - 0 @ 13 - ofo|of|1]|]o0]|13[-13] 5
e At - - - 1T A1 t{ofl1]of1]1]o0] 2
A ER - 1300 - - 3[1]o0fo0]|13[0[13] 1
yAN:2 - - 1T A1 - t{ojl1]ofl1|1]0]2
E #E |(HPFEE|(MFRI| RE |EEHE BR| | 5| B |88 Ra|8x| B
HF 2 00 - 2 00 - 62|00 4|0]| 4] 1
HFEE |0 @ 2 0 @ 2 - 4 O0 3|1]0|2|4|4]|0]f3
AR - 2 00 100 - 6l2|0|0|3|0]| 3|2
R 0 @ 2 - 0 @ 1 - o|lofof2|0|3]|-3]|4
HEER - 0 @ 4 - - ojlofof1|0|4]|-4]|5
F (i} EES AR EE | KBE7A Ba| B | 2| B |BR|XAR|BX|IEk
s 302(300 - - 6(2|0|l0|6]|2]|4]1
A& 2 @ 3 - - 2 A 2 t{o|1|1|4a]5]|-1]4
BE®R |0 @ 3 - 0 @ 4 - ojlofof2(0|7]|-7|5
EE - - 4 OO0 - 3|1|oflo|4|o0f4]2
NEBETA - 2 A2 - - t{o|l1]o|l2|2]0]3




